Problem 8.29

Power is defined as the amount of work done per unit time. That means:
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In other words, the power provided by a constant force on an object that is
moving with constant velocity is the dot product between the force and the
velocity. For this problem, the work gravity does is equal and opposite the work
the guy does (the velocity change is zero), so doing the power calculation on

gravity, we get:
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=1.23x10° Nem/s  (or 1.23x10° watts or W, or 1.23 kilowatts, or kW)
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Note that we could also have done this using:
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=1.23 kW
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